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Fill in the blanks :

(M 6400cm= 64 m 3m= 300 cm

@ 50m= 5000 cm 200cm= 2 m

® 6m50cm= 650 cm 10m= 1000 cm

®@ ® ® ©

@ 1700cm= 7 m 9000cm= 90 m

© 80m= 8000 cm

)

400cm= 4 m

EULTHEBEERE
Measuring :
# J& Kk
@ ‘ ‘ about 4 cm
# J& kK
@ ’ ’ about 6 cm
. # J& K
@ ' about o cm
#) 9 J& K
@ about cm
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Answer according to the figure :

®

@

B

wo( LWL

C

" — T hARE o &BRD £ &A% bem?
Route I: Starting from A and going to D via B, what is
the distance travelled in cm ?

"B, cHARE HA#EID £ E S ben?
Route II: Starting from A and going directly to D, what is
the distance travelled in cm ?

"gssp =, - HAEE > &CED> £&% Yen?
Route III: Starting from A and going to D via C, what is
the distance travelled in cm ?

UL = RBg > MER &R 7

Among the three routes above, which one is the shortest ?

UE=Zfhisag > MEBRERRE?

Among the three routes above, which one is the longest ?

REWBGILREHBEER % Pen?
How much longer in cm is the longest route than the
shortest one ?
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1600cm

750cm

1350cm

B8R —

Route 11

B8 —
Route I

_850cm



